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BF 1% BEEE X3FE JR2F X1EF
BRI F—L AEER @ 400m 800m 1500m 3000m 110mH  4x100mR  E=Bk E MRk =30 fa A% % 1500m 4x100mR  100m 100m 100m
200m
1 HEI 119 6+5 8+6 4 T+4 8 4+2 8 5+7 3+8 6+5 2+3 6+3 3+6
2 dvmpE 96 1 2+3 1 5+3 7 2+6 1 2+3 5+7 4+5 2+1 5 6+5 7+8 5
3 KR 83 7 8+6 8+5b 2 6+1 6 4 5+2 1 5+4 4 1+8
4 #HEA 65 7 4 7 6 4 4 7 8 7 5 4
5 Kt 44 5 5 3+2 4+7 1 6+7 3+1
6 L 38 8 4 7 4 8 2 3+2
7 HE 29 3 3 1 3 6 2 3 2 6
8 EMNA 22 1 1 8 7
9 IINER 17 4 2 5 3 3
10 A 10 6 4
11 [EHE 8 1+3 4
12 BE 6 6
13 BE 3 2 1
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RHX3 HEX2 EHEXI

3 14 EZE
B F—L HEES 400m 800m 1500m 3000m  110mH 4x100mR ESBE EMEBk = ER Bk R R85 = * *
HE 1500m  4x100mR  100m 100m 100m
200m
1 k=2 106 6+1 3+7 7 447 1+2 2+1 8 6+8 3+2 1+2 3+1 5 7+8 T+4
2 ZmE 93 2 5 1+8 6 5 6 7 2+3 3 3+5 2 6+2 4 5+6 3+8 1
3 Al 66 6+4 6+3 2 7+3 5+4 5 4 5+4 2 5+1
4 ME 49 8+3 1 3 6 4 3 1 5+8
5 HKHE 45 5+4 8 8 1 6 2 6 2+3
6 (e 41 2 2 3 3 1+5 8+7 1 3
7 AHE 41 5 4 2 4+6 5+4 6
8 NN 39 7 4 1 4 2 3+1 4 2 447
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BF 3% 2% 1% 14 B E
BRI F—L AFESR @ 400m 800m 1500m 3000m 110mH  4x100mR  E=Bk E MRk =30 fa A% % 100m 100m 100m 1500m 4x100mR
200m
1 ElF 65 2+4 2 6+7 4+5 2 1 1+2 1 1+3 6+4 2+5 2+4 1
2 JRH 28 1+3 1 2+1 2+1 2+5 6+3 1
3 R 25 3+1 3+5 3 1 3+1 1+4
4 % 21 4 1+2 2+4 5+3
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5F 3% 26F 1% 15 BFEF
lBfL F—L4 ABFHESR HiB 110mH 4x100mR E=B 100m 100m 100m 1500m  4x100mR
200m
1 BEZE 35 3+4 2+3 2 4+5 2+1
& 22 2+1 1 1 1+2 443
3 HHA 3 3
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BRL  F—4  AFHESR 57 400m 800m 1500m  3000m  110mH 4x100mR EmBk  EEPK =&k fehir  BA8E 34 2% 1% 14 ERF
Hr 100m 100m 100m 1500m  4x100mR
200m

1 K<H 18 1 1 1 2+1 1 1 3+1 2+1 1+2

2 Bk 4 2 2




